Monte Carlo-based revised values of dose rate constants at discrete photon energies

T. Palani Selvam, Vandana Shrivastava, Ghanashyam Chourasiya, D. Appala Raju Babu

Radiological Physics and Advisory Division, Bhabha Atomic Research Centre, Health Safety and Environmental Group, Anushakti Nagar, Mumbai, Maharashtra India

Received on: 07.08.2013 Review completed on: 03.12.2013 Accepted on: 04.12.2013

ABSTRACT

Absorbed dose rate to water at 0.2 cm and 1 cm due to a point isotropic photon source as a function of photon energy is calculated using the EDKnrc user-code of the EGSnrc Monte Carlo system. This code system utilized widely used XCOM photon cross-section dataset for the calculation of absorbed dose to water. Using the above dose rates, dose rate constants are calculated. Air-kerma strength S_k needed for deriving dose rate constant is based on the mass-energy absorption coefficient compilations of Hubbell and Seltzer published in the year 1995. A comparison of absorbed dose rates in water at the above distances to the published values reflects the differences in photon cross-section dataset in the low-energy region (difference is up to 2% in dose rate values at 1 cm in the energy range 30–50 keV and up to 4% at 0.2 cm at 30 keV). A maximum difference of about 8% is observed in the dose rate value at 0.2 cm at 1.75 MeV when compared to the published value. S_k calculations based on the compilation of Hubbell and Seltzer show a difference of up to 2.5% in the low-energy region (20–50 keV) when compared to the published values. The deviations observed in the values of dose rate and S_k affect the values of dose rate constants up to 3%.

Key words: Absorbed dose rate, air-kerma strength, brachytherapy, dose rate constant, TG-43

Introduction

Brachytherapy is one of the most popular modes of treatment due to its advantage of highly localized tumour dose delivery and at the same time sparing of normal tissues because of rapid dose fall off at various distances from the source. Dose rate constant Λ is one of the key parameters of the dose calculation protocol.^[1,2] According to AAPM (American Association of Physicists in Medicine) Task Group (TG) 43 and TG43-U1,^[1,2] the dose rate constant is defined as the dose rate to water at a distance of 1 cm on

Address for correspondence:

Ms. Vandana Shrivastava,

Radiological Physics and Advisory Division, Bhabha Atomic Research Centre, CT and CRS Building, Anushakti Nagar - 400 094, Mumbai, Maharashtra, India.

E-mail: bikaiv_barc@rediffmail.com

Access this article online			
Quick Response Code:			
	Website: www.jmp.org.in		
	DOI: 10.4103/0971-6203.125473		

the transverse axis of a unit air-kerma strength source in a water phantom. This constant includes the effect of source geometry, the spatial distribution of radioactivity within the source, encapsulation and self-filtration within the source, and scattering in water surrounding the source. In case of intravascular brachytherapy, the distances of interest are much smaller than the conventional brachytherapy reference distance of 1 cm. According to AAPM TG-60,^[3] the dose rate constant is defined as the dose rate at a reference distance of 2 mm in water from a source of unit air-kerma strength. Luxton and Gabor^[4] calculated the absorbed dose rate to water as a function of distance from monoenergetic point photon sources in a unit density water phantom using the EGS4 Monte Carlo code system.^[5] In their work, air-kerma strength S_k per unit photon from an isotropic point photon source is obtained as a function of energy using the mass-energy absorption coefficient of air published by Hubbell^[6] in the year 1982. The revised data of mass-energy absorption coefficients were published by Hubbell and Seltzer^[7] in the year 1995. Using the values of dose rate at 1 cm from the source in water phantom and S_{ι} , Luxton and Gabor^[4] calculated Λ as a function of photon energy. Chen and Nath^[8] investigated the general properties of Λ and developed a simple analytical tool to calculate Λ . Selvam *et al.*^[9] published the values of Λ from a point monoenergetic photon source as a function of photon energy (20 keV-1 MeV). The authors used Monte Carlo-based MCNP code (version 3.1)^[10] which is not capable of transporting secondary electrons produced by the photons.

DeMarco *et al.*,^[11] in their Monte Carlo study using the MCNP4C code,^[12] emphasized that the photon cross-section dataset has to be updated to a modern tabulation such as DLC-146 or XCOM while simulating photons in the energy range 20-100 keV in materials of low atomic number such as water. Because, differences of up to 10% are observed in the photoelectric cross section for water at 30 keV between the standard MCNP cross-section dataset (DLC-200) and the most recent XCOM or NIST (National Institute of Standards and Technology) tabulation.

The aim of this work is to calculate the dose rate to water and Λ at 0.2 cm and 1 cm distances from an isotropic point photon source as a function of photon energy (20 keV-2 MeV) and compare the same with the published values. The Monte Carlo calculations are carried out using the EGSnrc code system^[13,14] which utilizes the widely used XCOM photon cross-section dataset.^[15] The study also includes comparison of published values of S_k by Luxton and Gabor^[4] against the values based on mass-energy absorption coefficient of air by Hubbell and Seltzer.^[7]

Materials and Methods

Calculation of S_k

According to TG^{k} -43U1^[1,2] formalism, S_{k} is defined as air-kerma rate at the point along the transverse axis of the source in free space. In this study, the general formula proposed by Luxton and Gabor^[4] is used to calculate S_{k} (μ Gy m²/h) as a function of energy E (keV) for a point source of activity A (MBq).

$$S_k(E) = C \times \frac{1}{4\pi} \times E \times A \times \left[\frac{\mu_{en}}{\rho}(E)\right]_{air} \qquad \dots \dots (1)$$

where $\left[\frac{\mu_{en}}{\rho}(E)\right]_{air}$ is the mass-energy absorption

coefficient (m²/kg) of air and $C = 0.5768 \,\mu\text{Gy}$ kg/h/keV/MBq. The point source is in vacuum, and therefore, exponential attenuation and scattering by air is not required.

Monte Carlo calculations

In the present study, point photon source is positioned at the center of the water sphere of diameter 1 m for energy below 500 keV and 1.3 m for energy of 500 keV and above. The dimensions of the water phantom considered are consistent with the approach adopted by Luxton and Gabor.^[4] The absorbed dose rate per photon is scored in spherical shell of water of thickness 0.1 mm centered at distances of 0.2 cm and 1 cm from the point source. Density of water is taken as 0.998 g/cm³. The Monte Carlo-based user-code EDKnrc of the EGSnrc^[14] code system is used for this purpose. The PEGS4 dataset needed for Monte Carlo calculations described above is based on $XCOM^{[15]}$ compilations. We set AE = 0.512 MeV (1 keV kinetic energy) and AP = 0.001 MeV while generating the PEGS4 dataset, where the parameters AE and AP are the low-energy thresholds for the production of knock-on electrons and secondary bremsstrahlung photons, respectively. All the calculations utilized the PRESTA-II step length and EXACT boundary crossing algorithms. In all calculations, electron range rejection technique is used to save computation time. We set ESAVE = 2 MeV for this purpose. The photon transport cut-off energy, PCUT, is chosen at 1 keV in all calculations. In EDKnrc calculations, we set AE = ECUT = 0.512 MeV (1 keV kinetic energy). We included bound Compton scattering and Rayleigh scattering in the calculations. Up to 10⁸ photon histories

Table 1: Comparison of absorbed dose rate to water per disintegration at 1 cm times square of the distance (nGy $cm^2/h/Bq$) due to a point isotropic photon source in liquid water

Photon	Present	Luxton and	Ratio _ Luxton & Gabor
energy (keV)	studyª	Gabor [♭]	present work
20	0.3204	0.3204	1.000
30	0.2304	0.2265	0.983
40	0.1586	0.1556	0.981
50	0.1260	0.1236	0.981
60	0.1131	0.1121	0.991
70	0.1114	0.1101	0.988
80	0.1164	0.1157	0.994
90	0.1250	0.1243	0.994
100	0.1358	0.1347	0.992
125	0.1696	0.1674	0.987
150	0.2077	0.2060	0.992
175	0.2460	0.2445	0.994
200	0.2867	0.2861	0.998
250	0.3679	0.3640	0.989
300	0.4502	0.4447	0.988
350	0.5283	0.5283	1.000
400	0.6088	0.6033	0.991
500	0.7565	0.7602	1.005
600	0.8962	0.9056	1.010
700	1.0419	1.0342	0.993
800	1.1670	1.1651	0.998
900	1.2916	1.2805	0.991
1000	1.4093	1.4016	0.994
1170	1.6038	1.5977	0.996
1250	1.6871	1.6900	1.002
1330	1.7732	1.7823	1.005
1500	1.9481	1.9438	0.998
1750	2.1951	2.1630	0.985
2000	2.4272	2.4225	0.998

Depending on the photon energy, the values calculated in the present study have statistical uncertainties in the range of 0.1-0.4%, ^aBased on EDKnrc user-code of EGSnrc code system, ^bLuxton and Gabor^[4]

are simulated. Depending upon the photon energy, the 1σ statistical uncertainties on the calculated EDKnrc-based dose values are generally in the range 0.1-0.4%.

Calculation of Λ

Using the absorbed dose rate values at 1 cm and 0.2 cm from the point sources, dose rate constants at these distances are calculated as a function of photon energy E as below.

$$\Lambda(E) = \frac{\dot{D}(r_o = 1 \ cm)}{S_k} \qquad \dots \dots (2)$$

where $\dot{D}(r_o = 1 cm)$ is the absorbed dose rate to water (cGy/h) at $r_o = 1 cm$ from the point source.

$$\Lambda(E) = \frac{\dot{D}(r_o = 0.2 \ cm)}{S_k} \qquad \dots (3)$$

where $\dot{D}(r_o = 0.2 cm)$ is the absorbed dose rate to water (cGy/h) at $r_0 = 0.2$ cm from the point source.

Results and Discussion

Dose rate

Table 1 compares the values of absorbed dose rate to water per disintegration at 1 cm from the source times square of the distance from the source (nGy cm²/h/Bq) calculated using the EDKnrc and those published by Luxton and Gabor.^[4] The comparison shows that the values calculated in the present study are higher by about 2% than the published values in the energy range 30-50 keV. This difference is due to the most recent XCOM/NIST cross-section dataset used in the EDKnrc-based calculations. In the rest of energy region, the agreement is within 0.5%.

Table 2 compares the values of absorbed dose rate to water per disintegration at 0.2 cm from the source times square of the distance from the source (nGy cm²/h/Bq) calculated using the EDKnrc and those published by Luxton and Gabor^[4] and Selvam *et al.*^[9] The comparison (see column 5) against the values published by Selvam *et al.*^[9] shows about

Table 2: Comparison of absorbed dose rate to water per disintegration at 0.2 cm times square of the distance (nGy $cm^2/h/Bq$) due to a point isotropic photon source in liquid water

Photon energy (keV)	Present work ^a	Selvam et al. ^b	Luxton and Gabor ^c	Batio _ Selvam et al.	Patio _ Luxton & Gabor
				$Ratio = \frac{1}{present work}$	present work
20	0.4775	0.4827	0.4674	1.011	0.979
30	0.2257	0.2238	0.2170	0.992	0.961
40	0.1368	0.1359	0.1361	0.993	0.995
50	0.1047	0.1034	0.1016	0.987	0.970
60	0.0944	0.0930	0.0923	0.985	0.978
70	0.0939	-	0.0941	-	1.002
80	0.1000	0.0995	0.0990	0.995	0.990
90	0.1095	-	0.1108	-	1.012
100	0.1207	0.1204	0.1226	0.998	1.016
125	0.1549	-	0.1519	-	0.981
150	0.1937	0.1932	0.1952	0.997	1.008
175	0.2347	-	0.2343	-	0.998
200	0.2764	0.2749	0.2736	0.994	0.990
250	0.3602	-	0.3570	-	0.991
300	0.4434	0.4405	0.4455	0.993	1.005
350	0.5255	-	0.5281	-	1.005
400	0.6054	0.6016	0.6075	0.994	1.003
500	0.7624	0.7555	0.7730	0.991	1.014
600	0.9177	0.9012	0.9211	0.982	1.004
700	1.0706	-	1.0678	-	0.997
800	1.2258	1.17 19	1.1947	0.956	0.975
900	1.3283	-	1.3473	-	1.014
1000	1.3604	1.4184	1.3511	1.043	0.993
1170	1.3115	-	1.3327	-	1.016
1250	1.2719	-	1.3158	-	1.034
1330	1.2380	-	1.2845	-	1.038
1500	1.1544	-	1.2067	-	1.045
1750	1.0520	-	1.1324	-	1.076
2000	0.9679	-	0.9795	-	1.012

Depending on the photon energy, the values calculated in the present study have statistical uncertainties in the range of 0.1–0.4%. The dose rate values reported by Selvam *et al.*^[9] have uncertainties in the range of 0.04–0.07%, "Based on EDKnrc user-code of EGSnrc code system, "Selvam *et al.*^[9], "Luxton and Gabor^[4]

4% difference at high energies (800 and 1000 keV). This is due to the fact that MCNP (version 3.1)^[10] calculations did not include detailed electron transport and, therefore, collision kerma was approximated to the absorbed dose. Auxiliary simulations by setting ECUT = 2 MeV in the EDKnrc user-code produced comparable dose rate values at photon energies E = 600, 800, and 1000 keV against the values reported by Selvam et al.^[9] Note that calculation using ECUT = 2 MeV in the EDKnrc user-code is equivalent to scoring water-kerma, as the secondary electrons will deposit their energy where they are generated. The last column of Table 2 shows the comparison of dose rate values calculated in the present study and those by Luxton and Gabor.^[4] The differences are significant at both low-energy and high-energy regions. In the low-energy region, the difference is up to 4% (at 30 keV). In the high-energy region, the difference is between 2% and 8% (8% at 1750 keV). At 2 MeV, the comparison is within about 1%.

Air-kerma strength

Table 3 compares the values of S_k calculated in the present study against the values published by Luxton and Gabor.^[4] In lower energy range (up to 60 keV), the variation in the S_k is about 2%. This difference is because the calculation of S_k by Luxton and Gabor^[4] was based on mass-energy absorption coefficient of air published by Hubbell^[6] in 1982, whereas the present study utilized the mass-energy absorption coefficient of air published by Hubbell and Seltzer^[7] in 1995.

Table 3: Comparison of air-kerma strength S _k per
Bq (nGy cm ² /h/Bq) (1 Bq=1 photon/s)

Photon	Present	Luxton and	Ratio - Luxton & Gabor
energy (keV)	work ^a	Gabor⁵	present work
20	0.4945	0.4829	0.977
30	0.2116	0.2065	0.976
40	0.1254	0.1228	0.979
50	0.0940	0.0925	0.984
60	0.0837	0.0827	0.988
80	0.0884	0.0879	0.994
100	0.1067	0.1064	0.997
150	0.1718	0.1717	0.999
200	0.2452	0.2453	1.000
300	0.3953	0.3952	0.999
400	0.5412	0.5414	1.000
500	0.6804	0.6807	1.000
600	0.8129	0.8132	1.000
800	1.0579	1.0583	1.000
1000	1.2796	1.2792	0.999
1250	1.5313	1.5296	0.999
1500	1.7550	1.7522	0.998
2000	2.1519	2.1499	0.999

 ${}^{a}\textsc{Based}$ on Hubbell and Seltzer ${}^{[7]},\,{}^{b}\textsc{Luxton}$ and Gabor values based on Hubbell ${}^{[6]}$

Dose rate constant

Note that the differences in the values of absorbed dose to water and S_k as discussed above will directly affect the value of Λ . Table 4 compares the values of Λ in the present work against the values published by Luxton and Gabor^[4] and Chen and Nath.^[8] Λ is based on dose rate to water at 1 cm from a point isotropic photon source. The values reported by Luxton and Gabor^[4] show agreement at all energies except at 20 keV where the overestimation is 2.4%. This is because the dose rate values at 1 cm and S_k obtained in the present study are higher by 2% in the energy range 30-50 keV when compared to the corresponding values reported by Luxton and Gabor.^[4] Hence, there is no variation in the Λ values. Whereas at 20 keV, the dose rates at 1 cm compare well [Table 1], and hence, a difference of about 2% in the Λ value is observed.

The analytical calculation of Λ by Chen and Nath^[8] utilized the Monte Carlo-based energy absorption buildup factors reported by Angeloupos *et al.*^[16] These buildup factors may not be accurate in the low-energy region as the calculations were based on old cross-section dataset. Hence, the values of Λ calculated in the present study are higher in the lower energy region (higher by about 3% at 50 and 60 keV).

Table 5 compares the values of Λ in the present work against those published by Selvam et al.^[9] and Luxton and Gabor.^[4] Λ is based on dose rate to water at 0.2 cm from a point isotropic photon source. The differences in the values reflect the differences observed in the dose rate values, as the present study and the work by Selvam et al.^[9] utilized the same mass-energy absorption coefficient of air.^[7] Differences shown in the last column of the Table 5 (present work vs. Luxton and Gabor^[4]) reflect the combined effect of differences observed in the dose rate values [Table 2] and the different dataset used for calculating S_{i} . Dose rate calculations using ECUT = 2 MeV in the EDKnrc produced A values of 27.64, 27.81, and 27.73 cGy cm²/h at photon energies E = 600, 800, and 1000 keV, respectively, which compare well with the corresponding values reported by Selvam et al.^[9]

Conclusion

EDKnrc-based calculations show that dose rate values in water at 1 cm from the point photon sources are higher by about 2% than the published values in the energy range 30-50 keV. This difference is attributed to the most recent XCOM/ NIST cross-section dataset used in the EDKnrc calculations. Regarding dose rate values at 0.2 cm from the source, the differences are significant at both low-energy and high-energy regions when compared to the published values. In the low-energy region, the difference is up to 4% (at 30 keV) and at 1.75 MeV, the difference is about 8%. The study suggests that the recent compilation of mass-energy absorption

Photon energy (keV)	Present work	Luxton and Gabor ^a	Chen and Nath⁵	Ratio = Luxton & Gabor present work	Ratio = Chen & Nath present work
20	0.6480	0.6635	0.6490	1.024	1.002
30	1.0892	1.0965	1.0860	1.007	0.997
40	1.2650	1.2666	1.2500	1.001	0.988
50	1.3398	1.3357	1.3000	0.997	0.970
60	1.3515	1.3552	1.3120	1.003	0.971
80	1.3178	1.3165	1.2940	0.999	0.982
100	1.2726	1.2658	1.2590	0.995	0.989
150	1.2090	1.1999	1.1930	0.992	0.987
200	1.1692	1.1663	1.1590	0.998	0.991
300	1.1389	1.1253	1.1330	0.988	0.995
400	1.1248	1.1143	1.1220	0.991	0.998
500	1.1118	1.1168	1.1140	1.004	1.002
600	1.1024	1.1135	1.1070	1.010	1.004
800	1.1032	1.1010	1.0970	0.998	0.994
1000	1.1013	1.0957	1.0940	0.995	0.993
1250	1.1018	1.1049	-	1.003	-
1500	1.1100	1.1093	-	0.999	-
2000	1.1280	1.1268	-	0.999	-

	Table 4: Com	parison of	f dose rate	constant Λ	(cGy	/h	/U)	1
--	--------------	------------	-------------	--------------------	------	----	-----	---

Λ is based on dose rate to water at 1 cm from a point isotropic photon source. Depending on the photon energy, the values calculated in the present study have statistical uncertainties in the range of 0.1-0.4%, ^aLuxton and Gabor⁽⁴⁾, ^bChen and Nath^[8]

Photon energy (keV)	Present work	Selvam et al.ª	Luxton and Gabor ^₅	Ratio = Selvam et al.	$Ratio = \frac{Luxton \& Gabor}{Luxton \& Gabor}$
				present work	present work
20	24.1386	24.401	24.1976	1.011	1.002
30	26.6697	26.451	26.2712	0.992	0.985
40	27.2641	27.086	27.7077	0.993	1.016
50	27.8433	27.488	27.4595	0.987	0.986
60	28.1766	27.786	27.9021	0.986	0.990
80	28.2927	28.159	28.157	0.995	0.995
100	28.2866	28.228	28.8064	0.998	1.018
150	28.1849	28.115	28.4217	0.997	1.008
200	28.1857	28.027	27.8842	0.994	0.989
300	28.0410	27.857	28.1819	0.993	1.005
400	27.9627	27.788	28.0523	0.994	1.003
500	28.0116	27.757	28.3899	0.991	1.014
600	28.2213	27.715	28.3171	0.982	1.003
800	28.9698	27.695	28.2221	0.956	0.974
1000	26.5785	27.710	26.4052	1.043	0.993

Λ is based on dose rate to water at 0.2 cm from a point isotropic photon source. Depending on the photon energy, the values calculated in the present study have statistical uncertainties in the range of 0.1-0.4%. A values reported by Selvam *et al.*^[9] have uncertainties in the range of 0.04-0.07%, ^aSelvam *et al.*^[9], ^bLuxton and Gabor^[4]

coefficient of air by Hubbell and Seltzer^[7] is important for air-kerma strength calculations, as a difference of up to 2.5% is observed in the low-energy photons (20-50 keV). The deviations observed in the values of dose rate and air-kerma strength affect dose rate constants up to 3%.

References

1. Rivard MJ, Coursey BM, DeWerd LA, Hanson WF, Huq MS, Ibbott GS, et al. Update of AAPM Task Group No. 43 Report:

A revised AAPM protocol for brachytherapy dose. Med Phys 2004;31:633-74.

- Nath R, Anderson LL, Luxton G, Weaver KA, Williamson JF, Meigooni AS. Dosimetry of interstitial brachytherapy sources: Recommendations of the AAPM Radiation Therapy Committee Task Group No. 43. American Association of Physicists in Medicine. Med Phys 1995;22:209-34.
- Nath R, Amols H, Coffey C, Duggan D, Jani S, Li Z, et al. Intravascular brachytherapy physics: Report of AAPM Radiation Therapy Committee Task Group No. 60. Med Phys 1999;26:119-52.
- 4. Luxton G, Jozsef G. Radial dose distribution, dose to water and dose rate constant for monoenergetic photon point sources from

10 keV to 2 MeV: EGS4 Monte Carlo model calculation. Med Phys 1999;26:2531-8.

- Nelson WR, Rogers DW. Structure and operation of the EGS4 code system. Monte Carlo Transport of Electrons and Photons, edited by Jenkins TM, Nelson WR and Rindi A. (Plenum, New York) 1988.
- Hubbell JH. Photon mass attenuation and energy-absorption coefficients from 1 keV to 20 MeV. Int J Appl Radiat Isot 1982;33:1269-90.
- Hubbell JH, Seltzer SM. Tables of X-ray Mass Attenuation Coefficients and Mass Energy-Absorption Coefficients 1 keV to 20 MeV for Elements Z=1 to 92 and 48 Additional substances of Dosimetric Interest, Technical Report NISTIR 5632, NIST, Gaithersburg, MD 20899, 1995.
- Chen Z, Nath R. Dose rate constant and energy spectrum of interstitial brachytherapy sources Med Phys 2001;28:86-98.
- Selvam TP, Nagarajan PS, Rajan KN, Sethulakshmi P, Bhatt BC. A semi-analytic approach to determine dose rate constant of brachytherapy sources in compliance with AAPM TG 60 formalism. Australas Phys Eng Sci Med 2003;26:78-83.
- Briesmeister, JF. MCNP A general Monte Carlo N-particle transport code (version 3.1) Los Alamos, United States: Los Alamos National Laboratory; 1983.
- 11. DeMarco JJ, Wallace RE, Boedeker K. An analysis of MCNP cross-sections and tally methods for low-energy photon emitters. Phys Med Biol 2002;47:1321-32.
- 12. Briesmeister JF, editor. MCNPTM-A general Monte Carlo N-particle

transport code Version 4C Report. LA-13709-M. Los Alamos, United States: Los Alamos National Laboratory; 2000.

- Rogers DW, Kawrakow I, Seuntjens JP, Walters BR, Mainegra-Hing E. NRC User Codes for EGSnrc. NRCC Report PIRS-702 (revB). Ottawa, ON: National Research Council of Canada; 2010. Available from: http://www.irs.inms.nrc.ca/EGSnrc/pirs702.pdf [Last accessed on 2013 May 15.]
- Kawrakow I, Seuntjens JP, Rogers DW, Tessier F, Walters BR. The EGSnrc Code System: Monte Carlo simulation of electron and photon transport. NRCC Report PIRS-701. Ottawa, ON: National Research Council of Canada; 2010. Available from: http://www.irs. inms.nrc.ca/EGSnrc/pirs701.pdf. [Last accessed on 2013 May 15.]
- Berger MJ, Hubbell JH. XCOM, Photon cross sections on a personal computer. Report No. NBSIR87-3597." Gaithersburg, MD: National Institute of Standards and Technology 1987. Available from: http://physics.nist.gov/PhysRefData/Xcom/html/xcom1.html [Last accessed on 2013 Aug 01.]
- 16. Angelopoulos A, Perris A, Sakellarious K, Sakelliou L, Sarigiannis K, Zarris G. Accurate Monte Carlo calculations of the combined attenuation and build up factors, for energies (20-1500 keV) and distances (0-10 cm) relevant in brachytherapy. Phys Med Biol 1991;36:763-78.

How to cite this article: Selvam TP, Shrivastava V, Chourasiya G, Babu DR. Monte Carlo-based revised values of dose rate constants at discrete photon energies. J Med Phys 2014;39:4-9.

Source of Support: Nil, Conflict of Interest: None declared.

Author Help: Online submission of the manuscripts

Articles can be submitted online from http://www.journalonweb.com. For online submission, the articles should be prepared in two files (first page file and article file). Images should be submitted separately.

1) First Page File:

Prepare the title page, covering letter, acknowledgement etc. using a word processor program. All information related to your identity should be included here. Use text/rtf/doc/pdf files. Do not zip the files.

2) Article File:

The main text of the article, beginning with the Abstract to References (including tables) should be in this file. Do not include any information (such as acknowledgement, your names in page headers etc.) in this file. Use text/rtf/doc/pdf files. Do not zip the files. Limit the file size to 1024 kb. Do not incorporate images in the file. If file size is large, graphs can be submitted separately as images, without their being incorporated in the article file. This will reduce the size of the file.

3) Images:

Submit good quality color images. Each image should be less than **4096 kb (4 MB)** in size. The size of the image can be reduced by decreasing the actual height and width of the images (keep up to about 6 inches and up to about 1800 x 1200 pixels). JPEG is the most suitable file format. The image quality should be good enough to judge the scientific value of the image. For the purpose of printing, always retain a good quality, high resolution image. This high resolution image should be sent to the editorial office at the time of sending a revised article.

4) Legends:

Legends for the figures/images should be included at the end of the article file.